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QUESTION 1

Which feature is provided by Cisco Mobility Services Engine in a Cisco Wireless Unified Network architecture? 

A. It adds client packet capturing. 

B. It enables NetFlow data collection. 

C. It adds client tracking and location API. 

D. It identifies authentication problems. 

Correct Answer: C 

This solution allows a customer to track any Wi-Fi device, including clients, active RFID tags, and rogue clients and
access points (APs). https://mrncciew.com/2013/04/05/mobility-service-engine-mse/ 

 

QUESTION 2

What is a characteristics of a vSwitch? 

A. supports advanced Layer 3 routing protocols that are not offered by a hardware switch 

B. enables VMs to communicate with each other within a virtualized server 

C. has higher performance than a hardware switch 

D. operates as a hub and broadcasts the traffic toward all the vPorts 

Correct Answer: B 

 

QUESTION 3

Wireless users report frequent disconnections from the wireless network. While troubleshooting, a network engineer
finds that after the user is disconnected, the connection re-establishes automatically without any input required. The
engineer also notices these message logs: 

AP \\'AP2\\' is down. Reason: Radio channel set. 6:54:04 PM AP \\'AP4\\' is down. Reason: Radio channel set. 6:44:49
PM AP \\'AP7\\' is down. Reason: Radio channel set. 6:34:32 PM 

Which action reduces the user impact? 

A. increase the AP heartbeat timeout 

B. increase BandSelect 

C. enable coverage hole detection 

D. increase the dynamic channel assignment interval 

Correct Answer: D 

350-401 VCE Dumps | 350-401 Study Guide | 350-401 Braindumps                                2 / 5

https://www.passapply.com/350-401.html
https://www.passapply.com/350-401.html
https://www.passapply.com/350-401.html


https://www.passapply.com/350-401.html
2024 Latest passapply 350-401 PDF and VCE dumps Download

These message logs inform that the radio channel has been reset (and the AP must be down briefly). With dynamic
channel assignment (DCA), the radios can frequently switch from one channel to another but it also makes disruption.
The default DCA interval is 10 minutes, which is matched with the time of the message logs. By increasing the DCA
interval, we can reduce the number of times our users are disconnected for changing radio channels. 

 

QUESTION 4

An engineer must configure interface GigabitEthernet0/0 for VRRP group 10. When the router has the highest priority in
the group, it must assume the master role. Which command set must be added to the initial configuration to accomplish
this task? Initial Configuration interface GigabitEthernet0/0 description To IDF A 38-24-044.40 ip address 172.16.13.2
255.255.255.0 

A. vrrp 10 ip 172.16.13.254 vrrp 10 preempt 

B. standby 10 ip 172.16.13.254 standby 10 priority 120 

C. vrrp group 10 ip 172.16.13 254.255.255.255.0 vrrp group 10 priority 120 

D. standby 10 ip 172.16.13.254 255.255.255.0 standby 10 preempt 

Correct Answer: A 

In fact, VRRP has the preemption enabled by default so we don`t need the vrrp 10 preempt command. The default
priority is 100 so we don`t need to configure it either. But notice that the correct command to configure the virtual IP
address for the group is vrrp 10 ip {ip-address} (not vrrp group 10 ip ...) and this command does not include a subnet
mask. 

 

QUESTION 5

DRAG DROP

Drag and drop the REST API authentication method from the left to the description on the right.

Select and Place:
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Correct Answer:

HTTP basic authentication : username and password in an encoded string

token-based authentication : API-dependent secret

secure vault : public API resource

OAuth : authorization through identity provider

When Secure Vault is not in use, all information stored in its container is encrypted.

When a user wants to use the files and notes stored within the app, they have to first decrypt the database. This
happens by filling in a previously determined Security Lock – which could be a PIN or a password of the user\\'s
choosing.When a
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user leaves the app, it automatically encrypts everything again. This way all data stored in Secure Vault is decrypted
only while a user is actively using the app. In all other instances, it remains locked to any attacker, malware or spyware
trying

to access the data.

How token-based authentication works: Users log in to a system and – once authenticated – are provided with a token
to access other services without having to enter their username and password multiple times. In short, token-based

authentication adds a second layer of security to application, network, or service access.

OAuth is an open standard for authorization used by many APIs and modern applications. The simplest example of
OAuth is when you go to log onto a website and it offers one or more opportunities to log on using another
website\\'s/service\\'s

logon. You then click on the button linked to the other website, the other website authenticates you, and the website you
were originally connecting to logs you on itself afterward using permission gained from the second website.
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